Intermediate Algebra - Review for Test 3 October 08, 2013

Quiz #6

1.a? — b? 6.x2 —7x + 12
(arb)@-b) G- D(x-3)
2.0 - b3

@@ +abb) (51 b
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5.a% — 2ab + b?

(a-b)(a-b)
(a- 6)1

9.Multiply the polynomials. Give your simplified answer in descending order. Quiz #6

(3 —2x2 +x)(Bx2 —x+4)

X2(6xD X6 X () + X)X HAENA) +
* X (34X () + X(4) .
=3x%- "+ 4% bx* e 2x3-8X +3><3->< +4x

{?XS —7x T+ 9x°- 9 + “rx7

10. Divide the polynomials.

State the quotient as a polynomial in descending order and the remainder

as a constant.
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3l 2 -9 | &ug ¢

3 I3 1B X +9x+
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11. Factor completely. Circle/box your final answer.
64x3 + 8

3 (6x3+D =3 (2x)3+ {j]
= 8[(2)( +D(4x2—2x + D]
Z@QHD( 4x -2 ><+D

(arseey 60
2[4xM30x X7+ 9 ]

2] Ax3( CB -1 (- 9}]

R (X 9>("v X - D

2(x- 3@y -1

\LQEX -?§<X+?s (2 X~ D(Z 7(+_’>]

Practice Problemsfor Test #3

Review:

1. Solve the system of equations. If it exists, give your solution as an ordered pair (x, ).
x =5)> =
£ = ;xw* by= '; 3042y =5
X lpj— -3 +2:j =5
(5% =-13
2y = 8

o] 4=14

2. Find the equation of the line that is parallel to the line 2x — 3y = 2 and passes through the point (6, —4).

m=2/3 ')(X,)tjbz <(DJ"‘\'> -33:-2)(4-2
4-9,2 0 (x-%) 473573

Y4-C D=3 (x-0)

voder (3]

y=3x-4-4
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Practice Problems for Test #3

3. Find the equation of the line that has slope 0 and passes through the point (-4, 7).

Y=

4. Solve. Write the solution set in interval notation. 4 —3x > -5 or —3=2x+1
-3x>-5-4 -3-(22x
S —— -3x>-9 —4<9x
X<3 -2 25X

c oo,ooﬂ or xz-p

U

1. Simplify the exponential expression. Practice Problems for Test #3

(yT) ( -(2 3-(-) -2->3
X 5 z

—Q—I’LIS
(302 = "

\8

:_Z_.

a (2
Y

2. Simplify the exponential expression.
(e ty?)2(x2y 43

_ X_z +X—u
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Practice Problems for Test #3
3. If the functionisa polynomial, identify the lead term, leading coefficient, degree, and constantterm.
f(x) = —5x3 4+ 2x* — 4x°%+ 7 — 6x + 9x?

= 4x+2x1-5K + - bxt 7

leadterm:| — At.x(p
eadlngcoefﬁment +

egre

constantterm: F }

4, Evaluate the polynomial for the given value.
P(x) = —2x? —x + 10, evaluate P(—3).

3|2 - 10 PED-2(-3)-(-3)+\10
e -9 :,2(q3+3+\g
-2 55| =-13+3 45|

Practice Problems for Test #3
5. Subtract the polynomialsand simplify. Give your answerin descendingorder.
(4x® -5+ 2x?) — (Bx + x? — 2x?)

=4 (20 +2X-X -3x =5
= {(ox3 +x2—3x—- 9, )

6. Multiplythe polynomialsand simplify. Give youranswer in descendingorder.
(2x? — 4x)(x% + 3x — 2)

= 23(% )+2x(3>§+ Qx 2)‘*( @(X>*(’A‘X3>*€DO

) prr’f(ox - AD&"AV)(-D_X +3%
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. . . . . Practice Problems for Test #3
7. Dividethe polynomials. Give the quotientand theremainder.

Bx®+10x2+6x—3) +~(x +2)
2|3 10 b -3
- -8 4

3 4 -2

e,

[ 2
quotient| X “'%X"’z—

remainder: ‘

8. Completely factorthe polynomial. Practice Problems for Test #3
3x® — 15x* — 18x?

= 5x1( - 5x - @

13x" (-0 (3+1)

9. Completely factorthe polynomial.
27x%+8

= (33 + 2 1({3%@(9)3— lox + AS]
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. Practice Problems for Test #3
10. Solvethe equation forx.

3= 7
X —lox+9=24-4x

X -2x-15=0
(x-3)(%+3)=0
X-5=0 X+3=0

(x:ﬁ )X=-37

Intermediate Algebra Test #3 Print Name:

12. Simplify the exponential expression. Brewer 01 October 2010
(=) -
x2y 5 X U b4 g —(JL)

3D -4\ | x o= =X
= (X y

_ \Lj v ’ .
- (X—' (C]—S)‘Z ‘e
:!Xz\‘jlo )

13. Write in scientific notation.

BY g 9 x/0)

\l
~><L
C <=
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Test #3 Print Name:

16. Multiply the polynomials and simplify. intermediate Algebra
(2b? = 3)(3b* —3b + 6)

=(280(35%) +2b*(-3D125 (1) +(—3>(31§‘>+ (—3)(—%}63} @
= bbb -bb+12b -9 + 9b - |8

{%‘*—@bﬂ 3k m@

17. Divide the polynomials. Give the quotient and the_remainder.

(x3 —6x2 + 11x — 6) = (x — 3) Q 0’\"(4,(\‘!7-'
3/ | -6 1] - !
—J 3 - g (DQ leg)(“_z

3 20 \gO

Test #3 Print Name:

Intermediate Algebra
18. Completely factor the polynomial. ~ srewer
6x* — 10x3 — 4x°

2x* (3x"-5x —z)——

22X [:sz—(ox-F X -23 =
=;2xz£3>< (x—2>+ : (x—z)j -
=253 (x i}(&:@

19. Completely factor the polynomial.

s (6-2): [ep b2 X %@
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20. Solve the equation for x. srower
(x+5)(x—-7)=-20

X+ X=7) +20 = O
X"=Fx+5x-35+20 =)
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